



Topic: Fourier series examples

Course: B.Sc/ Physics

Dr. Rajesh Kumar Neogy
Assistant Professor, Physics
M. L. Arya College, Kasba
Purnea University, Purnia, Bihar



is perpendicular to the surface $\phi = \text{constant}$ at that point.

Prove that $x^2 = \frac{\pi^2}{3} + 4 \sum_{n=1}^{\infty} (-1)^n \frac{\cos n\pi x}{n^2}$, $-\pi < x < \pi$.

(ii) $\sum \frac{1}{n^2} = \frac{\pi^2}{6}$ (iii) $\sum \frac{1}{n^4} = \frac{\pi^4}{90}$

$\therefore a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx = \frac{2}{\pi} \int_0^{\pi} x^2 dx = \frac{2}{\pi} \times \frac{\pi^3}{3} = \frac{2\pi^2}{3}$

$a_k = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos kx dx = \frac{2}{\pi} \int_0^{\pi} x^2 \cos kx dx$

$= \frac{2}{\pi} \left[\frac{x^2}{k} \sin kx + \frac{2x}{k^2} \cos kx - \frac{2}{k^3} \sin kx \right]_0^{\pi} = \frac{2}{\pi} \times \frac{2\pi}{k^2} \cos k\pi = \frac{4\pi}{k^2} \cos k\pi$

Now $f(x) = x^2 = \frac{a_0}{2} + \sum_{k=1}^{\infty} a_k \cos kx = \frac{\pi^2}{3} + 4 \sum_{k=1}^{\infty} \frac{(-1)^k \cos kx}{k^2}$ — (1)

Putting $x = \pi$: $f(\pi) = \pi^2 = \frac{\pi^2}{3} + 4 \sum \frac{1}{k^2}$ or, $\frac{2\pi^2}{3 \times 4} = \sum \frac{1}{k^2}$

or, $\sum \frac{1}{n^2} = \frac{\pi^2}{6}$

(ii) Putting $x = 0$ in (1)

$0 = \frac{\pi^2}{3} + 4 \sum \frac{(-1)^k}{k^2} = \frac{\pi^2}{3} + 4 \left[-1 + \frac{1}{2^2} - \frac{1}{3^2} + \frac{1}{4^2} - \dots \right]$

or $\frac{\pi^2}{3} = 4 \left[1 - \frac{1}{2^2} + \frac{1}{3^2} - \frac{1}{4^2} + \dots \right]$

$\therefore \frac{\pi^2}{12} = \left(1 - \frac{1}{2^2} + \frac{1}{3^2} - \frac{1}{4^2} + \dots \right)$ — (2)

+ $\frac{\pi^2}{6} = \sum \frac{1}{n^2} = \left(1 + \frac{1}{2^2} + \frac{1}{3^2} + \frac{1}{4^2} + \dots \right)$ — (3)

Adding (2) + (3) $\frac{\pi^2}{6} + \frac{\pi^2}{12} = 2 \left[1 + \frac{1}{3^2} + \frac{1}{5^2} + \frac{1}{7^2} + \dots \right] = 2 \left[\frac{1}{(2n-1)^2} \right]$

$\therefore \sum \frac{1}{(2n-1)^2} = \frac{\pi^2}{8}$

$\therefore \sum \frac{1}{n^4} = \left(1 + \frac{1}{2^4} + \frac{1}{3^4} + \frac{1}{4^4} + \frac{1}{5^4} + \frac{1}{6^4} + \dots \right) = \left(1 + \frac{1}{3^4} + \frac{1}{5^4} + \dots \right) + \left(\frac{1}{2^4} + \frac{1}{4^4} + \dots \right)$

$= \sum_{n \text{ odd}} \frac{1}{n^4} + \frac{1}{16} \sum_{n \text{ even}} \frac{1}{n^4}$

$$f(x) = x^2 = \frac{\pi^2}{3} + 4 \sum (-1)^n \frac{\cos nx}{n^2}$$

Integrating both sides

$$\frac{x^3}{3} = \frac{\pi^2}{3} x + 4 \sum (-1)^n \frac{\sin nx}{n^3} + C_1$$

at $x=0$, $C_1=0$

integrating again;

$$\frac{x^4}{12} = \frac{\pi^2 x^2}{6} - 4 \sum (-1)^n \frac{\cos nx}{n^4} + C_2$$

at $x=0$, $C_2 = 4 \sum (-1)^n \frac{1}{n^4}$ at $x=\pi$, $\frac{\pi^4}{12} = \frac{\pi^4}{6} - 4 \sum (-1)^n \frac{\cos n\pi}{n^4}$

$$\Rightarrow -\frac{\pi^4}{12} = -4 \sum \frac{1}{n^4} + 4 \sum \frac{1}{n^4}$$

or

$$\frac{\pi^4}{12} = \sum_{n=1}^{\infty} \frac{1}{n^4} (1 - (-1)^n)$$

$$\text{or, } \sum \frac{1}{n^4} = \frac{\pi^4}{96}$$

$$\frac{\pi^4}{12} = 8 \sum \frac{1}{n^4}$$



**FOR ANY QUERIES FEEL FREE TO CONTACT ME AT
EMAIL: RAJESH.NEOGY@GMAIL.COM**

**These study materials are meant only for personal use
and no commercial use etc.**



Thanksss